
12

8

10

14

9

4

3

11

GLASS

2

7

SCREEN

15

13

1

9

6

9

5

Legend Series 
Double Hung (Operating)
Parts Identification 

04/16 1 LDH



Image Item # Description Color / Finish / Size Spec Part #

White 2382700
Champagne 2382701
Bronze 2382702
Satin Nickel 2382704
Faux Bronze 2382734

558011

White 2382690
Champagne 2382693
Bronze 2382692
Satin Nickel 2382694
Faux Bronze 2382691

Keeper Screws
(#6 x 1" Screw)

558008

LH 557997
RH 557996

558012

2 Keeper with Screws
(July '15 - Current)

3 Upper Tilt Latch (LH Shown)

Lock with Screws
(July '15 - Current)

1

Keeper
(1995 - July '15)

Lock with Screws
(1995 - July '15)

LH 557999

RH 557998

Upper Tilt Latch Housing Screws
(#8 x 1 1/4" Screw)

508117

White LH 2382720
Champagne LH 2382722
Bronze LH 2382724
Satin Nickel LH 2382728
Faux Bronze LH 2382736

White RH 2382721
Champagne RH 2382723
Bronze RH 2382725
Satin Nickel RH 2382729
Faux Bronze RH 2382737

4

Lower Tilt Latch (LH Shown)
w/ Screws

(July '15 - Current)

Upper Tilt Latch Housing 
(LH Shown)

5

Legend Series 
Double Hung (Operating)
Parts Identification 

04/16 2 LDH



Image Item # Description Color / Finish / Size Spec Part #

LH 557995
RH 557994

Tilt Latch Screws
(#6 x 3/4" Screw)

500001

Not Shown on Assembly Dwg

LH 558023
RH 558022

Non-EZ Tilt Pin 588202

  Tilt Pin    Non-EZ Tilt Pin Tilt Pin Screws
(#7 x 3/4" Screw)

2380895

7 Jambliner (LH & RH)

Whit 20" 531212

590078

6

Lower Tlt Latch (LH Shown)
(Dec. '04 - July '15)

Tilt Pin (LH Shown)

Jambliners to be ordered per the following 
information:  Color, LH or RH, Window Size, and EZ 
Tilt or Non-EZ Tilt.  NOTE:  EZ Tilt units will have tilt 
latchs ( Item # 4) on the top of the inside or bottom 
sash.

Screen Grommet
 (Qty. 4)

White - 20" 531212
White - 24" 531213
White - 28" 531214
White - 32" 531215
White - 4' Lineal 531210

9 Sash Weatherstrip 538010

8 Parting Stop

Legend Series 
Double Hung (Operating)
Parts Identification 

04/16 3 LDH



Image Item # Description Color / Finish / Size Spec Part #

14" (Glass Size) 2390152
16" 2390153
20" 2390154
22" 2390155
24" 2390156
26" 2390157
28" 2390158
30" 2390159
32" 2390160
34" 2390161
36" 2390162
8'-0" Lineal 2390006

16" (Glass Size) 2390139
20" 2390140
24" 2390141
26" 2390142
28" 2390143
30" 2390144
32" 2390145
36" 2390146
8'-0" Lineal 2390006

11 Glass Stop 12' Lineal Length 2390002

10

Head Outside Stop
(After July 2015)

Side Outside Stop
(After July 2015)

12 Exterior Casing (Head & Sides)
(See Accessory section for other options)

14' Lineal Length 2390003

13 Sill Nose
(See Accessory Section for other options)

14' Lineal Length 2390019

Legend Series 
Double Hung (Operating)
Parts Identification 

04/16 4 LDH



Image Item # Description Color / Finish / Size Spec Part #

16" Pine (Glass Size) 210083
20" Pine 210084
22" Pine 210085
24" Pine 210086
26" Pine 210087
28" Pine 210088
30" Pine 210089
32" Pine 210090
34" Pine 210091
36" Pine 210092
13' Pine Lineal 291094

16" Pine (Glass Size) 210021
20" Pine 210022
24" Pine 210023
26" Pine 2480272
28" Pine 210024
30" Pine 2480235
32" Pine 210025
36" Pine 210026
13' Pine Lineal 291094

16" Pine (Glass Size) 2370060
20" Pine 2370061
24" Pine 2370062
28" Pine 2370063
32" Pine 2370064
36" Pine 2370065

15

Side Inside Stop

14

Head Inside Stop

Sill Inside Stop
36  Pine 2370065
40" Pine 2370066
13' Pine Lineal 2370073

2370093

White 9410020

Not Shown on Assembly Dwg

Window Opening Control Device
(Includes strike, screws & Instructions)

Field Applied Only

11' Pine Lineal - High Performance

Legend Series 
Double Hung (Operating)
Parts Identification 

04/16 5 LDH


	Legend Double Hung
	LDH Parts



